Sociology 411

Fall 2006, Hogan

The Middle and Working Classes: Eighth Quiz

True/False (Circle one): Five points each

1.
T
F
Kerbo reports that "Alexis de Tocqueville was 'startled' ... by the condition of equality in this country of America."

2. 
T
F
Kerbo reports that, contrary to Marx's theory, "the industrial proletariat (or working class) did not grow to the point of including the vast majority of the people in this country."

3.
T
F
Kerbo limits the middle class to those with professional and managerial occupations

4.
T
F
Kerbo admits that there is no way to distinguish the top of the middle class from the corporate class

5.
T
F
Hogan agrees that there has been a remarkable increase in better jobs and a corresponding increase in middle as opposed to working class employment in the course of the twentieth century (1900-2000)

6.
T
F
Kerbo reports that, contrary to popular wisdom, white collar jobs are not safer than blue collar jobs

7.
T
F
Kerbo presents data to indicate the fact that people from lower income families are less likely to vote

8.
T
F
Hogan denies the assertion that religion is probably a better predictor than class of vote for the Republican Party in the 2000 and 2004 presidential elections

Multiple Choice (circle one): ten points each
1.  Marx predicted in 1870


a. that the U.S. would remain subservient to British industrial capital


b. that the U.S. would emerge as the leading industrial capitalist nation


c. that the abolition of slavery would lead to feudalism in the U.S.


d. that the communist party need not concern itself with the U.S.

2. Kerbo distinguishes the middle and working classes by


a. class, status, and party


b. skill, authority, and property


c. education, occupation, and income


d. occupation, authority, and property

3. Kerbo presents comparative data on middle-income households, from 1980 and 1995, indicating

a. that the U.S. still has the largest and most stable middle class


b. that the Anglophone (English speaking) world has a relatively larger middle class


c. that the U.S. had a larger and more stable middle class than Canada

d. that the U.S. had the smallest and most rapidly diminishing middle class
4. Kerbo summarizes the literature on job satisfaction by reporting that


a. only the wealthy report satisfaction or fulfillment


b. there is more satisfaction and fulfillment the higher we go in the class system


c. only employers report fulfillment


d. managers report more fulfillment than employers

5. Hogan suggested that there is more neighborhood involvement in


a. working class urban ethnic neighborhoods


b. upper-middle class white suburbs


c. upper-middle class black suburbs


d. lower class neighborhoods

6. Kerbo presents data comparing union and nonunion workers in the U.S. in 2001, indicating that the advantage for union workers was 


a. insignificant


b. more wage than benefit difference


c. some benefit but no wage difference


d. some wage but even greater benefit differences
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